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QUESTION 1

What functionality is applied by SDN to find an alternative path in case of failure in the Transport Network?

A. Path Correlation Engine

B. Alternative Route Finding

C. Alternative Path Computing

D. Path Computation Engine

Correct Answer: C

Reference: https://www.google.com/url? sa=tandrct=jandq=andesrc=sandsource=webandcd=andcad=rjaanduact=8and
ved=2ahUKEwj01tmp5uTvAhUQO8AKHbvUB

5cQFjAAegQIBxADandurl=https%3A%2F%2Fwww.mdpi.com%2F2071-1050%2F12%2F10% 2F4255%
2Fpdfandusg=A0vVaw2Jd6iravRnpP8tfxj|[dKWK

QUESTION 2

When considering Cloud and Transport orchestration, evaluate whether the following statement is true or false: NFVO is
to Cloud what SDN is to Transport.

A. False
B. True

Correct Answer: A

QUESTION 3

What are the benefits of the stateless or state-efficient aspects of network functions?
A. Avoid massive database corruption

B. Provide real time access to the databases

C. Enable scalability and extreme resiliency in the 5G Core

D. Ensure the database integrity

Correct Answer: C

Reference: https://www.nokia.com/about-us/news/releases/2018/01/29/nokia-implements-future-xnetwork-architecture-
for-5g-to-deliver-breakthrough-network-performance-and-reduce-costs/

QUESTION 4
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Which of the following is not a component of the 5G Flexible RAN architecture?
A. Radio Unit

B. Distributed Unit

C. Centralized Unit

D. Optical Unit

Correct Answer: D

Reference: https://www.hindawi.com/journals/wcmc/2019/5264012/

QUESTION 5
What does 5G bring to Industry 4.0? (Choose two.)

A. 5G will generate a huge amount of data and Information Technology will provide the computing platform with
analytics and Al.

B. 5G provides the connectivity (bandwidth, latency and reliability) needed to exchange data for OT and IT functionality.
C. 5G brings nothing to Industry 4.0.

D. 5G will generate a huge amount of data with mMTC and IT platforms are expected to suffer from this.

Correct Answer: AB

Reference: https://www.google.com/url?
sa=tandrct=jandg=andesrc=sandsource=webandcd=andved=2ahUKEwij3MSz5e TVAhUUQEEAHVYtAJKQFjAAegQIAX

ADandurl=https%3A%2F%2Fwww.mdpi.com%2F2673-4001%2F1%2F1%2F5%
2Fpdfandusg=AOvVaw2pcAzrM3BgCPfsBYztcsA
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